= A
N = 0 & AF & Y A
T 204 LetsH SA
2
co3 H TH A2 2]
gel®oln 2880 HERd o M)
(o
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
3,597,785 3,127,385 470,400
= 2,225
Al 6,283
- 3,589,277
S| HI i A2t 2] 2,461,104 2,069,058 392,046
selE0lD X8 HERY 107,240 108, 240 A 1,000
NE - Z2HHER2 L HASR =8l 35,722 35,922 A 200
201 et Y| 31,744 31,744 0
01 AP 22| d| 24,432 24,432 0
OZHN L ZHN BRAFE A
35,000 1008 *2= 7,000
OZAMBANRAE = 70,000 »42H %20 5,600
OMBIH B4 HEIHZECBHA) BESH 5,000
(OFSPNRIESEcray—3 20,000 *x150AH 3,000
O2IIAEBRX 2= 18,400 x2E x123] 442
OHAAMOR AT BAG 70,000& *9H *33] 1,890
ONESYN BHES toH 7
5,000& *300H4 1,500
02 332g%H| 7,312 7,312 0
OAHXNZRE MY ESE2E I
25,7403 132 48,580 *185H 1,922
OFNUEAAMAL T2 AlE2 770
OHUAEBZBIMAAE 2R L 22
385,000 x12J00 & 4,620
202 04| 1,078 1,078 0
01 2L I 1,078 1,078 0
OZAA A = 0 4l 1,078
203 €2 F=&d| 1,800 2,000 A 200
03 Al ZH =X 2= XH| 1,800 2,000 A 200
ORYS NEYL 28 L 2o =&
2,000,000< *90% 1,800
307 QI2t0| ™ 600 600 0
12 QI2+0I 2 Et = H] 600 600 0
OZNHAIFE W= 150, 000& *4H 600
401 Al EHI L 204 HI 500 500 0]
03 Al 201 Y| 500 500 0
OF0EHUSZ 292G 20,000 253 500
SEH0 222 71,518 72,318 A 800
201 LBt 71,518 72,318 A 800
01 AP 22| H| 67,518 68,318 A 800
O&FXN=EAID] LdXE 111,000 »49CH x 1204 & 65,268
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2M: R
2 ST At2e

o S HAIS K L RYES HAF HS (&2 &)
S EHH B (B) - HEAY - BAS il HZS2
O} DEC A~ NE2
7203 *100m *8A| 2 * 100! 57,600
O&IIMNEZ 25,000,000 128 300,000
OV=dlg 2,500& x45CH x12& 1,350
QusSgerdgz 6,500,000& x13] 6,500
OEAIA HIOIBAMN =2 450,000& 13| 450
OFRFAN A= XY 145,000
Ozz3+83 4 2,550
— &tEHD| 200,000& =64 A~ 1,200
— BB 150,000& *9JH A~ 1,350
OFA 24 330,000& *123] 3,960
OFA AHANADI| 22| 88,000& x12& 1,056
206 2 b 5,760 5,760 0
01 M= bl 5,760 5,760 0
Otz ¢&3H 2 4,000& *x240kg 960
OA0lESx AFHMAHAM 7L
4,000& *100kg*12& 4,800
307 212t01 & 366,000 379,650 A 13,650
05 A2t &= 366,000 379,650 A 13,650
OFREA HAAEH| 366,000
401 Al HI L 2 0HHI 149,000 273,000 A 124,000
01 A& HI 149,000 273,000 A 124,000
Ooga MNASH22 24 (2-38) 15,000
OFXNEA M1 &X 20,000
Ode & std4 B4 2 Hi=3 AX 20,000
OB 24 b $4 24 17,000
OMIEAMD & d& B 20,000
OXaote DItx==x A 17,000
OFLHAY =& ==& WXl 15,000
OFUAY BIIAd &X 15,000
OXotFEXE =2 B 10,000
405 Xt &HE S b 6,400 0 6,400
01 AL =S EF SHI 6,400 0 6,400
ORKEZE0|D] 7 800, 000& =84 6,400
HLEBIAIE 22 638,264 174,748 463,516
201 YEt2 | 43,080 32,780 10,300
02 33249l 43,080 32,780 10,300
OFA WX HI| &E 17,000
o223 Hyl 2,200,000& *x27| 4,400
O3xJ 34 & &Y 200, 0003 =904 1,800
oMYA FstAE L HY| 45,000& *224H 10,080
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2M: R

P IV DY, PO e
Helr HES AR R 2B A MBS

S2A-ZH () - HRAY - BES Oif &4 %Ei Hnsz
Od=Il Alat & 3| 4,800,000 * 10| 4,800
Og2 df. terd| F| 200,0002! *25CH 5,000
206 T2 I 5,184 4,968 216
01 W2l 5,184 4,968 216
oYy M 7Y 3,6008! *420kg 1,512
ORLY 22H 7Y 4,2002 *360kg 1,512
OW2ts HelH 7 45,0002! =482 2,160
401 AlEH 2 2 0HHI 590,000 137,000 453,000
01 Al 590,000 137,000 453,000
OOols] Witer B2 WA A 323,000
OPT WHgd| DA 200,000
OW+EHI D 22,000
OS2YE 2y &3 20,000
O=75 UBN ¥ ZAAZ X 20,000
O=2A4 JIAHA BII6E DA 5,000
HIDIHAIE 2 125,850 101,350 24,500
201 Ypte | 41,230 42,730 ~1,500
01 AtR 22|t 270 270 0
OFJItE IRt IS 9l 110
OcgorEelXt I 9ISl 160
02 ZZ2YY| 40,960 42,460 A1,500
OFIIE 22X &3l 100
OAgrot® 22l Xt &3l 60
O22J HIPAN 222 1,000
OBAHIANE SXS2 20,000
OLYI RNES 800, 000! *6CH 4,800
OFA HIAZEI| 22 2,000
OBA AYAIEE +2 10,000
OFA ®O|&H @A C 3,000
206 2 I 10,000 10,000 0
01 28I 10,000 10,000 0
OFAMFEIISEAY(LEOHE 9 105)
25,0002 * 105 =404 10,000
307 212401 & 13,620 13,620 0
05 oIt e 2 13,620 13,620 0
OREA ALALE HIBY 89
460,0008! * 122 5,520
OZ2I| XA 2A & 675,000 x 122 8,100
401 AlEHI 22 ThYI 61,000 35,000 26,000
01 Al 61,000 35,000 26,000
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2M: R
2 ST At2e

&S HEE FAMRX L FUEY HAM MBS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
023 sZJ wH 50,000
OFstxd HSAE uH 5,000
Otg?unsd 85 MIIHHH 0l =g 6,000
thz&zel 2,490 2,550 A 60
201 L4l 2,490 2,550 A 60
01 At 22l 2,490 2,490 0
omzg(ua)zsd 88 7 1,950
—Olal2tet MAal ol 7,000& =1000H 700
— NI EH| 50,000 x53| 250
-JIEt A8 F£¢ 1,000
Oldg d2=+J gdx2 45,0003 x12& 540
=xtetel 68,248 64,121 4,127
101 @124 dl 59,154 55,027 4,127
4 JI2ZtHZ2XREES 59,154 55,027 4,127
O=x&ace@ eyl 59,154
-JI22(F 9% §2 X&)
1,8373x2H x336L 48,275
-SEE(2UHZ AL A, DE)
48,275,000& x10.28% 4,963
~LREIIQUTER
48,275,0003 #3.23%*7 . 38% 116
- EXNZEUE 300,000 »2H 600
-—gE403 300,000 x2H 23] 1,200
-&A=s 2,000,000 »2H 4,000
201 ¢er24| 8,094 8,094 0
01 At 22l 3,688 3,688 0
OFXAEIH, RFILE 2 & 300,000& 23| 600
o1 =X M= 303 +8,00004 123 2,880
OFxt2els M3¢8 4,000& 52 208
02 2324l 4,406 4,406 0
OFT2HMAIAE 2F SAH|
45,000,000 *8% 3,600
OFXZHAAH M82836d SA=
67,100& 123 806
307 21201 A 1,000 1,000 0
06 283 1,000 1,000 0
OFAF=XE Lol MU EE NIIRES
100,000& * 103 1,000
FESHUANE 2g & CIIANR =¥ 297,416 285,641 11,775
HESAEH 22 158,582 145,697 12,885
201 ¢4l 51,392 33,297 18,095
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2M: R
2 ST At2e

Pl HBESHAM 2% U DA & CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 At 22l bl 1,432 1,432 0
OF #y¥NsHsE HA 500, 000& *23| 1,000
Osdla 30| Xtz 36,000 x12& 432
02 3524t 49,960 31,865 18,095
OFUSNEH(EEES S) RAHI
511,481,770& x4% 20,460
OFUSHAHZ SEHHE S XHI|
140,690, 000& *6% 8,442
Ot HAEH KA 269,049,920 x4% 10,762
O&LW CCTV K Xdl 32,881,700& *4% 1,316
OSMABH o LEDICIO HAHAE 2
79,950,000 *8% 6,396
OFESANA 2HAAFH KXY
64,588,000 *4% 2,584
401 Al HIL 201 63,400 58,200 5,200
01 Al& H| 63,400 58,200 5,200
OFR2E , s, Mg FESAAAE Ol8EX 6,000
OFEBENEEZ HWERHIA AME A 55,000
Osala =&I| WA 150,000& = 16CH 2,400
405 Ko SHI 43,790 54,200 A 10,410
01 JtAY = ZF SHI 43,790 54,200 A 10,410
OIPESI| ¢ 290,000 »151CH 43,790
HEBESAMY 22 137,834 139,944 A2,110
201 Bt A H| 137,834 139,944 A2,110
02 53294l 137,834 139,944 N2,110
O&SMNES 84,759
-Jlgs 4, 400& «1283| A x12& 6,759
-AIEE 6,500,000& x12& 78,000
OsUEANESZ 110,000& »2CH x12& 2,640
oNgzd AIE= 3,155
- 1372t 20,740& *103| & x12& 2,489
-2 2t 23,490% 13| & x12& 282
- AANEE (56,000 +20, 740 )x53| 384
OopdBENEEZ B2 7,500,000 43| 30,000
OZ2XNHAIX 8= 13,848
—CH2(SMS) B2 11& 50,0002 x12& 6,600
-&2(MS) &2 32& x4 ,0004 ~12& 1,536
—HEI(MMS) L2 100® *3,00021 x12& 3,600
-IDIRLELEE dSE
8.8& 20,0004 x12& 2,112
OCATV AtE2 11,000& 260 12 3,432
HPEM QAP S8 1,000 0 1,000
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2N HRD
2 ST At2e
Sl FESMAM 2% L ARMND 2 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 1,000 0 1,000
01 At 22l 1,000 0 1,000
O BESLUISA AEXZA EH WE
1,000, 000& *13] 1,000
=M 23 =& 1,023,107 945,279 77,828
= 2,225
Al 6,283
- 1,014,599
HB3E S8 NG HE 2s 1,023,107 945,279 77,828
= 2,225
Al 6,283
- 1,014,599
ANEEEHH 29 642,962 361,116 281,846
201 Let24d] 50,150 51,550 A 1,400
01 At 22/l 50,150 51,550 A 1,400
O&a A2F 7 7,000
HEAAE WHHOIZE, JIBE, OIRA S 7,000
O Z208y AZIAIZdA 2 22,600
- AERAHE 500, 000& «504 2,500
—2sANHE 700,000& *3CH 2,100
-PCE 18,000& = 1,000CH 18,000
OUWEEHOX &F24 S2013 & 1,500
o8 AZTEN P2 (Ms 0ffice)
381,000& 502 19,050
207 SR H L 58,500 0 58,500
02 & AR I 58,500 0 58,500
Ot e+S& EMWOIX W& 58,500
- 24t BtESE SHOIK JHE 2 93359
SAAE W 58,500
401 A& HI L 20l 28,960 0 28,960
01 A& HI 28,960 0 28,960
OXMA REMEMAEII(UPS) 01=3t RS A 28,960
405 TtakF S| 505,352 309, 566 195,786
01 AL ESH SH 505,352 309, 566 195,786
OL=za7FH uH 424,000
-2 1,000, 000 =364 CH 364,000
-2LH 300, 000& =200CH 60,000
OMBHEAAX WA 49,922
OXMA REMMAEII(UPS) 0I5 25 31,430
- SEHTAEX 22,730
- &0 E3&X(STS) 1,450,000%6CH 8,700
DALY 29 309,481 321,009 A 11,528
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2EAM: R
M 58N0 U5 X
el d23E S8 NFFHH L (&)
SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 175,505 212,895 A 37,390
02 3322l 175,505 212,895 A 37,390
ogeadsll X2l 18, 141,000& *6% 1,089
OHEESAAE RAL=H 35,752
- 253 ZHl(VPN) 76,486,644 2 x6% 4,590
— &AL AAE(IPS) 38,610,000 *6% 2,317
— AT HAIAE (SEE) 46,079,000 6% 2,765
~HYTSA LAY (B YSH)
10,514, 000& *6% 631
- EERIIANH (USB) 22l AlAE (s/w)
32,008,000 x10% 3,201
—PC HQIEE Z2telAlAE(s/w)
46,416,000 x10% 4,642
-2 HOHAAE (s/w) 71,000,000& =10% 7,100
-UES/D E2HO0AIAE(NAC)
60,000,000 *6% 3,600
—HUMEFEI S A A (s/w)
50,000,000& =10% 5,000
— LHPCXI 2101 (s/w) 19,051,000& *10% 1,906
OZ&Es 0t Al |Xitl 3,000
02 A8 RAE* 150,000& =128 1,800
-&J AIB = 100,000& 12 1,200
ORQoALZI| RAL=HI 13,971
-H RAES4(8U) 154,400, 000& *8% 12,352
-352 RANES FIH(1M) 1,619
OFESHEH RAS=H 324,396,000 6% 19,464
OFESUY slHAER 32,760
-HEELIS(AHY JtH , FESUNE S)
80,000 113 & +12& 10,560
—FoMNA(SEIUMSUH B 5H,
fHUHE S) 200,0002 *43| & %122 9,600
- RoRooAe3I| 70
150,000& x72| dx12& 12,600
O+ EHOIX =X E==Hl 21,092
-AZEQAN 157,600,000& *12% 18,912
—-otEAN 27,250,000 *8% 2,180
OZHOIX Mo =2 95
-2 0o 28,6003 » 14 29
-8=2 T 66,000 » 14 66
OZHOIX =¢elels &0l MHlA 990
- ZHOlX 55,000& «x12& 660
-M= A2 &3 27,500& 123 330
OZMHOIXl otolEl o1& MHIA ==
330,000& 14 330




25 M
M 580 Y3 =X
S9l: PSS S8 NABBA 23 (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OEHOIX MelEE =YX AAE (s/w) X
54| 25,410,000 *10% 2,541
OZHOIX DBES3t 28 KAE2H|
56,260,000 *10% 5,626
OEAZH (FEH) SXE24
550,449,710& 6% 33,027
OZEHOIX BHAMNH S X224
11,342,210 8% 908
OBQotAI&E £ X H| 2,640
- 20&dH ol2a 110, 0002 #2J0 A~ x12& 2,640
OREMEHAEX SKXNE==H 15,997,000 «6% 960
O2-UetiAd M s 22l0l(s/w) SXE4H|
10,500,000 % 12% 1,260
308 XAXIGHH SO0l & 133,976 108,114 25,862
10 2| 2SHUSHE A XERAEASH] 133,976 108,114 25,862
OZ2ED|8F MALEH SXI22H(Z2E0(8
IPNES=D) 84,213
OZ2SJ|8t M= AIAE S X 22l 1,510
OXNLHENZEHEAIAE HHAGAZ SEH| 6,460
O2-LietAl A AHlATAZR 2EH| 10,000
O&2-LietAlAa g X &2 ] 31,793
dEs0lS T2 )d2e X 4 21,284 19,692 1,592
Al 6,283
- 15,001
301 et A= 600 1,000 A 400
09 HAIAHI EAZ 600 1,000 A 400
OdES0IS s L AL BEAM=
100,000& x2H *33| 600
307 212t0| & 20,684 18,692 1,992
Al 6,283
- 14,401
02 QIZFA AAIE E X 20,684 18,692 1,992
OXB30lS T2 2RI L SH(QAHHIXH) 20,684
Al 6,283
5 14,401
NXSH 20|18 =SS & DHAK 10,540 41,719 A31,179
= 2,225
- 8,315
201 LBt Y| 10,540 41,719 A31,179
= 2,225
- 8,315
01 AP 22| d| 10,540 41,719 A31,179
OXXIEH 20|18 == &H WAX& 10,540
= 2,225
- 8,315
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